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| SSC Practice Set-11 |

A can do a certain job in 12 days. B is 60% more
efficent than A. Then B can do the same piece
of work in

A Tt &m &t 12 &7 ¥ &7 gt & iR B, A 9 60%
ga:m-wﬁl FATEY B 39 &M i fhad g &
?

(a) 8 days (b) 7% days

(©)6 i days (d) 6 days
A rectange with one side 4 cm is inscribed in a
circle of radius 2.5 cm. The area of the
rectangle is :

& M, T9Het Us O 4 At ®, feet 2.5 o
e aret ga ° 81 NI &1 A% T §?

(a) 8 cm 2 (b) 12 cm 2 (c) 16 cm 2 (d) 20 cm 2

A merchant marked cloth at Rs. 50/ metre. He
offers 2 successive discounts of 15% and 20%.
The net price/ metre is :

HiE MR HUE WX & 50 Ufd M, ToI 3ifha & gl
T HAV: 15% 3 20% e a1 &1 Wi W, FaT ()
Hiua F41 gN?

(a) Rs 32.50 (b) Rs. 42.50

(c) Rs. 34.00 (d) Rs. 40.00

3 Brother divided Rs. 1620 among them in such
a way that the share of is equal to 5/ 13 of share
of other two, combined. What is the share of
the second one?

T AT T UE F € 1620 H HT TH Atet fF g
g & A A WEAl & g e @ 5/13 fewm
e gEr Wi @t feww o §?

(a) Rs. 1170 (b) Rs.450

(c) Rs. 540 (d) Rs.500

A dealer marks his goods 20% above their cost
prices. Then, he allows such a discount on the
marked price so that he makes a profit of 8% .
The rate of discount is :

HIg UKL Ut aegell & JoI 3% d god | 20%
3feres U 3ifeha Yl g1 TRt I Siferd o WX U Tet
@2 a1 81 FEd 3@ 8% &1 @ BT 31 Y S et
TR QT FTE ?

(a) 12% (b) 10% (c) 6% (d) 4%

The salary of a person is reduced by 20%. To
restore the previous salary, is to be increased
by

10.

11.

12.

13.

fortit afh &1 9ad 20% & Han T4 | S® 3E& QA

ga; W AR & 68 36 a9 a9 &l fohaan s@mT
?

(a) 20% (b) 25% (¢) 17.5% (d) 22.5%

Two buses travel to a palce at 45 km/hr and 60

km/hr respectively . If the second bus takes 5%

hours less than the first for the journey , the
length of the journey is:

T A HAY: 45 TR, W guer AT 60 T, TUer F =
W e &I T §1 Al UL T UgTlt a9 Hi UL AT
ﬁ5%a@mﬁﬁ%a‘rwmmﬁaﬁ}%?

() 990 km (b) 945 km  (c) 990 km (d) 1350 km

i 3
If(x + & :(x - = 5:3, then the value (s) of x is
x| x|l

Elﬁ'(x+l\:(x—l\ = 5:3 &, x & U FAST?
x| x|
(a) +1 (b) +2 (c) +3 o

An exterior angle of a triangle is 115° and one
of the interior opposite angle is 45°. Then the
other two angles are

foreit frior @7 aTgT WU 115° § SR TS M=
U@ HIU45° HT §1 A N & HIUN HT T SA3T?
(a)65°70° (b)60°,75° (c)45°90° (d)50°,85°
In a AMABC, Z/A+ Z/B="75° and ZB+ ZC =140° ,
then /Bis

afe AABC, ZA+ /B=175°, /B+ /C=140° @ /B
=1 gIm?

(a)40° (b) 35° (¢) 55° (d) 45°

The value of (1 + tan2 01 - sin? 0) is

(1 + tan? 0)(1 - sin? 6) T WA AT FEN?

(a) 2 (b)1 (c)-1 (d) -2

If 4x2-12x+kis a perfect square, then the
value of k is

afg 422 — 12x + k gUT &1 & A k &1 AW S@13072
(a) 2 (b)9 (c) 12 (d) 10
(113241152+1172- 113x 115 -115x117-117x113)
is equal to

(1132+1152+1172- 113x 115 -115x117-117x113)
frae TmEr 22
(a)0 (b) 4

(c) 8 (d) 12
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14.

15.

16.

17.

18.

19.

20.

The average of runs scored by a cricketer in
his 99 innings is 99. How many runs will he
have to score in his 100th innings so that his
average of runs in

Teh forhe faeret g @eft T 99 Tt ® 38d g
TG T T e 99 #1100 Ut § 3@ fRa @
S 4T d1feR 100 UTREN T 38 T &1 3fr|a 100 €
S ?

(a) 100 (b) 99 (c) 199 (d) 101

If rsind=1,rcosf=+/3 then the value of
r? tanfis

qfe r sinb = 1,rcosf = \/g?ﬁrz tanﬁmmmﬁ
&2
(a) 4

(b) L ©43 (@)L

V3 V3
pr3 - q3 =(p- q)(p—q)2 + xpq then value of x
is
E p% - q% = (p-@p-@? + xpq VA x T AR

A hita?
(a) 1 (b) -1 (c)3 (d) 2
y2
If (a + l =3 then the value of
al
a® +a?2+a%+1is
V2
El'Ft{ (a+l =3 3} a a18+a12+a6+1 <hl A
al
A Hifea?
(a) 3 (b) 1 ()0 (d) 2

The top of a broken tree touches the ground at

a distance of 15 m from its base. If the tree is

broken at a height of 8 m from the ground, then

the actual height of the tree is

fortlt 22 g 1 9T W 36 act § 15 W &1 g uY
@ Wyl w2, AT U IR @ 8 Hex SAE A

ZET & at U8 i Yord: K Fa ofi?

(a) 17m (b) 20 m (c)25m (d)30m

In APQR, straight line parallel to the base QR

cuts PQ at Xand PR at Y. If X and PR at Y. If PX

: XQ =5: 6, then the XY : QR will be

&t APQR, ¥ 38R QR & ¥W= 8 @1 PQ &l

X W R PR & Y W &iedt 81 9 PX: XQ = 5:6 &

@ XY:QR F1 grM?

(a)5:11 (b)6:5 ()11:6 (d)11:5

A man borrowed some money from a private

organisation at 5% simple interest per annum.

He lended this money to another to another

person at 10% compound interest per annum,

and made a profit of Rs 26,410 in 4 years. The

man borrowed.

et =t 3 foret faolt @6 @ 5% arfdes e
STST 1 X X g T 3UW &l | qeagnd 6= ag qivn
freht 3t =afh @t 10% aiffes aeafs sams uT 2 &

21.

22.

23.

3T 39 X IW 4 T W & 26410 HT AN g3 39
=fh F et TivT 3aR & oi?

(a) 200000 (b) 150000 (c) 132050 (d) 100000
From two points, lying on the same horizontal
line, the angles of elevation of the top of the
pillar are 8 and @6 < @). If the height of the
pillar is 'h' m and the two points lie on the same
sides of the pillar, then the distance between
the two points is

= fe {fee T w o fgedl @, feet @wa & vid =
SFAT HIVT 0 3T DO < @), 1 A TWH &t Hang ' o' W
2 3i A fiig W 3 T ST @ A AN faigen & da
#t gt Fan?

(a) h(tan® — tan®)m

(c) h(cotB — cot®m

(b) h(cot®— cotO)m
@ h tanBtam®

——m
tan® - tan6

The Bar graphs represents the number of road
accidents due to bus and car during the years
2008-2013. Study the graph and answer the
questions.

39 a1 T% | a8 2008-2013 & I a9 3R &/ &
HIUT g3 USH gHSAISN St AT i YT 4T &
Ik T IR ST 31 J91 & AT g

[INo of accidents by bus

M No of accidents by car

[e2]
o

al
o

D
o

w
o

N
o

=
o

Number of accidents (in thousands)

o

2008 2009 2010 2011 2012 2013

Years
The total number of road accidents in the year
2009, 2011 and 2013 combined together is

T 2009, 2011 3T 2013 # HoT fHTHT TS gaeA
Ht wEA fhat 82
(a) 180000 (b) 110000  (c) 70000 (d) 160000

The Bar graphs represents the number of road
accidents due to bus and car during the years
2008-2013. Study the graph and answer the
questions.

TH O7 % ¥ a9 2008-2013 & W a9 3N &R &
FHAUT gZ WEARN &I TN TN §1 AR HT INEAIH
HIfTE 3T g9t & 39X i)

The ratio of the road accidents due to Bus in
the year 2008 to that by Car in the year 2012 is

a9 2008 ® I9 & ST AT a6 2012 § HI & KR

T3 Uss gHeen T U = §7?

(a)2:1 (b)1:2 (©2:3 d3:4
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24.

The bar graphs represents the number of raod
accidents due to bus and car during the years
2008-2013. Study the graph and answer the
questions.

TH a1 % ¥ g9 2008-2013 & S a7 T &R &
HIUT §E USH gUeAISH St HEAISH & YT T4 2
Ik T AEAIT FHIWT SR Y91 & I i)

The respective ratio between the accidents by
car in

2008- 2013. Study the graph and answer the
questions.

W 91 IT% U a9 2008-2013 & TR a0 3 &1 &
HIUT §F UH gHeAISN di UEATSH @l 9T T §1
Ik T STETF ST 31 J91 & AT T

The ratio of the averages of the road accidents
due to Bus to that by Car in the year 2008, 2011
and 2013 is

¥ 2008, 2011 3T 2013 ¥ 9 & HNU M &R O

¥ 2012, 2010 3 2009 ¥ HW FRT §¢ gHeAS & T2 USH gueAISHl @1 3iHa U 4T 872
e ShU9T: UG & T B2 (a4:5  (b)5:4 (©5:1 (d)1:4
(a)2:5:4 (b)4:5:4 (c)4:3 :2(d)4:5:2
25. The bar graphs represents the number of road
accidents due to bus and car during the year
— ANSWER KEY
1. (b) 2. (b) 3. (c) 4. (b) 5. (b) 6. (b) 7. (©) 8. (b) 9. (@  10. (b)
11. (b) 12. (b)  13. (d) 14. () 15. (c) 16. () 17. (¢) 18. () 19. (@)  20. (d)
21. (b) 22. (@)  23.(d) 24. (%) 25. (b)
| HINT & SOLUTIONS |
L 60%:§ — 4%3=12 cm?
AT FE e = 5 i 3. First Method :
BF o v = 8 i 15%:230—@3
AFTAmEny = 121 ; 1
FARM = A FI T A x THA ! 20%23_@3
=5x12=60 : Mp Sp
BRTmET = — 2 7 i 20 17
Bl #/d  &Hal : 5 4
d % o 1_25 P 7% 2 i 100 68
i 100 unit — 50
2. | 1 unit - 20 = LRg
| 100 2
i 68 — % X 68
aqm_ovﬁp::m:5ﬁ i =34 Rs
A B ! Second Method :
% ! )
o : W@;&:(omb—a)(b%
i RE a = TEel B2 = 15%
o 4 = i b= THl VL = 20%
° ' 15x 20
ZBCD =90 : EXC =15+20 - 50
( ikl ) i =15+20-3
B DC = 4 9t ! N 399
BC?-BD?-DC? ! . e
5 9516 ! Let, H Eﬂﬁ.mp =100 ﬂ!ﬁz
2 i e = 32 (e
BN : fito o Sp = 687
b - 1 BC =3 : Ao 5p=
Fd T . Ixb=DC xBC i

10092 — 50 ®o/HeX
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19fe - % Fo/HIEX

689fE — % X 68 = 34 o /g7

4. TEANE : I WE total
5 ;13 18
18 gf7e — 1620
19fE — 90 Fo
TR = 542 — 90 X 5
=450 ®

S. First Method :

CP MP SP
5 6

%20

100 120 108
~__ 7
-12

12 ® &1 g2 120 W

12 %100 =10% B2
120

o

Second method :

T e Tohdl & foh 519 Ued %9 4, T Afersh siferd foram o
o 3iferd 9. W B¢ 9, aa:ﬁsuccessive_@l (98 9,

e ¥ g
CP SP

><20< 5 6

20  108/6 = 18 —> &I
100 108

—> Gl

20—)18=%><100=10%€Tﬁf

6. 20%:%—>m

2.4 — New
VRS
5 4
w____
+i — 95% e B
7. A B Total distance
LCM
Speed 45 km/h 60 km/h 180 km
Time (FHT) 4h 3h
1h —>55h
2

180km — 5% x 180km

:5><180+%><180

=900 +90 =990 km

8.

10.

) )
(x+l :(x—l =5:3

x| x|l
First Method :

x4+ =

~x_5

1 3
x—_
x

xZ+1 §

x2-1 3

3x2+1)=5x2-1
3x2+3=5x2-5

22 =8
x2=4
x =12
Second Method :
P 5
1 3
x _——
x
x2+1 o §
x2-1 3 > o
put the value & get the answer put
Put x=2-2
satisfied x = Q,ﬂ = 5
4-1 3
4+1 5
X = —2 = — = —
4-1 3
SO answer
x=2-2
A
45° 115°
B c D
ZACD + Z#ACB =180°
(T & W TR HI0)

115+ ZACB = 180°
ZACB =180-115=65"
ZA+ Z/B+ ZC =180°
ZA + 45+ 65 =180
ZA+110° =180°
ZA=170°
AABC ®
ZA+ /B =175
/B+ /C =140°
() + (ii)
ZA+2CB+ 2C =140+ 75 = 215°
B Wd B—
A S =1 BTN ST AT = 180°

-..@)
...(i1)

...(iii)
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A+ 7B+ /C =180°
(111)—@1v)
/B =215° -180° = 35°

...(1v)

11.

(1 +tan20)1 - sin20) = ?

2

sec?®x cos20 = x cos2 0

cos“ B
+1+tan?0 = sec? 8'

1-sin20 = cos?0

=1

12.

4x2 —12x + K = quf &t
(202 - 2x 2% x3+K
(a-0%2=a®-2 a b +b>
L & & 1
(20)% 2x(2c) x 3 32
K=3%2=9

13.

1132 +1152 + 1172 - 1183 x115-115x 117 - 117
x113

Let a=113,b=115,¢c =117

T 9 &
—a2+b%2+c¢2—ab-be
—Cca
o %[(a—b)z +(b-c)?
+c-a)?]
= %[(113—115)2 +(115
~1172 +(117- 1192
= l[4+4+16]
2

_ 24 _
2

12

14.

First Method :
99 I &1 3i&d = 99
99 IR 1 et AT = 99 x 99
100 I &1 & = 100
100 T 1 HA AR = 100 x 100 — 99 x 99
100 9t 36 T = 100 x 100 — 99 x 99
=10000 - 9801
=199
Second Method :
100 TIRE &0 3Ed 100 W & 8 Ygelt 99 TRl &
3red 99 7 .. afe ugel 99 WRE &1 3fted 100 < fear
S 3 100 o 9 # 100 W &4 feu S A1 100 9iEd
1 3Ed 100 & ST
37a: g4 100 ot 9 o
gt 99 WA &% 99 T9r 100 ot &
100 = 99 + 100 = 199
T SAH B

15.

)]
...(ii)

rsinf =1
rcosf = /3
)2 + (i) 2
r2sin20+ 72 cos?20=12 +(+/3)2
r2 x (sin% 0 + cos? 0) = 4

r2x1=4 G sin20 + cos2 0= 1
r=12
@1)/(i)
rsinf _ 1
rcos® /3
1
tanf = —
NE]
9 1
tan“6 ==
3
9 1 4
ritanf=4x —=—
NERENE]

16. p® - ¢® = (p-Plp- @ + xpg)]
p2-a®=(p-9(p?+¢®+pg
AT.Q.

(p-@p%+q%+pg) = (p-Plp -2 +xpg]
p2+¢%+pg=p%+q% - 2pg+xpq
3pq = xpq
x=3
17. 2
(a+— =3
al
a+==+3
a
B a+1:«/§
a
.'.a6 =-1
=al® +a'?+ab+1
=@®%+w@®%+a%+1
=-1+1=0
18. A
B
8 mtr
A 15 mtr c

T € AB T S B ¥ 32 11 € 7R B T T S § A

fag w

2 2 V2
BA2=BC2+AC
=82 +15% =64+ 225

B A% =289
BA' =17 mtr
TgHI 3. = AB+ BC
= A'B+BC
=17+ 8 = 25 mtr

or
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8; 15, 17 — Triplate

BA =17 mtr
Yg & 3. = AB+ BC
=A'B+ BC
=17+ 8 = 25 mtr

19.

Pr _ 5 %

PQ 5+6 QR
S_x
11 @R

xy :QR=5:11

20. 9HT T = 10000 unit
r=«=5%
T =t = 494
IXTT X GHY

100
o 1000 x 5x 4

100
= 2000 unit

NIRIS

TAET (p) + HlosATS
10000 unit+ 2000 = 12000 unit

W=10% =+
10
P— A
10 —» 11
4 o9 H
P A
10 11
10 11
10 11
10 11
10000 14641
AshallG oS = 46419

q1. A S Ak 1 |eA @l A = 2000 I

26419(C — 26410®

19 - 10®

21.

IHI A TR = 10000 I — 100000 Fo

()
B C D

tanb = ﬁ
BD

tanf = &
BC

_ AB
" tan®
BD = ABcotf
= AB cot8
=CD
=BD - BC
= ABcot8 - AB cotf
= h(cotB — cotB) mtr

< =

22.

2009 ¥ FeT gdeard = 70,000
2011 — 80,000

2013 — 30,000

23.

— 1,80,000
2008 ¥ 90 & SR : 1012 § &R & HIUT
30,000 : 40,000
3 : 4

24.

2012 ¥ &R g : 2010 ¥ &K : 2009 § HI gefeT

40,000 : 50,000 : 30,000
4 5 3

25.

2008 + 2011 + 2013
A o & HR ¥ $R % goe #1 fi|a
30+60+10 40+ 20+ 20
3 - 3
=100 : 80
10:8=5:4

2008 + 2011 + 2013

Note (*) For None of the above



